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101|R#A7 L 816 89 727 Keg |EE 1,188 756 fEE 1,944 270
102|&JE 7= L 2,148 2,148| Kg BIE 1,566 532
111|&EEF £ 234 13 221| Kg |EIE 1,188 378|E4E - &AL 1,728 648
113|RAV S 32 18 14| Kg |dtia 810 160| & 2,700 1,295
114|B5EFE 214 30 184| Kg |ERES 1,404 e 2,700 432
15[ 1= 9 5 4| Kg |EE 1,728 1,080| £ 2,700
117[1E 479 50 429 Kg |EE 2,484 756 fEE 3,780 540
21| bl E 51 48 3| Keg |EE 648 162| £ 1,080
134[#= = 662 371 291| Kg |EE 2,000 972| L 2,376 1,296
140(5 I 18 18| Kg b 46,800 10,800
147|E2 O 106 106| Kg |EE 6,478 FUE - 8 10,800 4,000
168|BIEH AL H 368 368| Kg BERE 2,160 1,404
201|{Lb L 758 758| Kg R - T 756 216
203|/hé L 218 218| Kg ffE 378 90
205|585 L 48 48| Kg 1R 540
206| = 1F 340 340| Kg T 648 367
208| Mo % 425 425| Kg £4fH 1,404 216
210{1F AL 268 268 Kg |Ei& 4,050 1,728
212|&5E.3 Y 302 302| Kg Ko - BiE 1,998 864
251|< %<3 333 333 Ke |BE 1,868 1,620
252| VA EECH 53 53| Kg =] 1,728
254|E b ECH 578 578| Kg =] 1,998 648
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305[£Aah 0 8] Kg =9E 5,400 3,564
306|L e k) 6 Kg |RIE 540

315|7: B9 6 15 15| Kg = 3,240
319|2h o 79 79[ Kg BJE 2,052 818
332|= 13 WA =EF 149 149] Kg Bl = 2,376 2,052
3bl{HHV 60 5 55| Kg [3&E 3,780 w5 9,180 3,780
35411FxE<Y 73 50 23] Kg |FFE 1,620 1,296|F% 1,782 1,620
355(mp Y 165 165 Kg EH - P E 1,728 432
356(L L& 65 65 Kg SER 1,512 648
357|7RE 30 30 Kg FEE 3,888 1,080
358|KE 20 15 5| Kg |EHM 1,944 FAN 1,944

362| & 6 6] Kg BJE 1,620

401|H W 49 49| Kg Iz & 2,160 1,728
4025 5 &E 20 20 Kg A0 5,454 3,780
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A—uhh 10 10| Kg 2P 810
AN 56 56| Kg i 1,450 1,200
AERAT AT 190 190] Kg 2P 3,672 1,333
ARTEZL 82 82| Kg E2p] 2,000 1,566
JE WA AE 20 201 Kg Bl = 450

iy} 20 20 Kg i 1,296 972
Jarys: e 132 132 Kg 2P 2,500 1,150
B 12 12| Kg i 950

BRI 175 1751 Kg Bl = 1,000 980

1/1




SH6MFE6H6H (KER)

P T R SR ST T ONES) e H

T HEInt e e 11.0 [
(it T BB 5 Te)
4, 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —
AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 9,182 7,809 1,373 Kg [EE 2,482 1,550 K% 1,782 1,080
71019 2 ®HA0F 22 22| Kg =N 1,512 1,134
BlBEFALANIN 151 137 14 Kg |B1R 762 657|518 2,592
54T AE 7 71 Kg bloi ] 1,234
755|FH&» C 18 18 Kg EE 710
T56(FNET 28 28] Kg RIF 1,466
76l|b Y AEE 24 241  Kg FJE 2,314 2,160
B01[IBAL = 1S 114 1141 Kg ¥ -mA 1,728 1,188
802|1 x| 20 201 Kg gl 1,782 1,242
8041 % 9 16 16 Kg blo ] 1,080
805 = 1E 1,318 1,318 Kg bF 1,058 689
810|BAKTF 54 541  Kg B =2 2,520 1,577
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